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Attempt all questions. Carrying of mobile phones will be treated as the case of unfair me
Question carries 7 marks.

1. Define NP-class of problem. Explain, weather, P ¢ NP? Define NP—Cogipletg_,pr%blems.

2. A contiguous subsequence of a list S is a subsequence made up

5, 15, 40 is not. Compute the contiguous subsequenc
programming, :

3. Find the minimum no of operations required for th
using dynamic programming, s
A: 30x40, B: 40x5,%

4, Extract MST from the following gr g Kruskal’s algorithm (using disjoint set data
structure).

N’ul{_)___sequéﬁce is palindromic if it is the same whether read left to right or right to left. For
: nstance, the sequence {A,C, G, T, G, T,C, A, A, A, A, T,C, G} has many palindromic
ub’éeﬂc’luences, including A, C, G, C, A and A, A, A, A (on the other hand, the subsequence
“A, C, T isnot palindromic). Devise an algorithm that takes the above sequence and returns

the longest palindromic subsequence. Its running time should be O(n2).



